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1- Our parents are not ready to make a decision yet; ............... , we still have to wait. !
1) in another words  2) in others word 3) in other words 4) in others words
2- We need a secretary in the office to set schedules, arrange appointments and ...............
meetings.
1) bring 2) decide 3) organize 4) measure
3- When nobody paid attention to his request, the man got angry and began ...............
1) smelling 2) calling 3) accepting 4) shouting
4- “Can you lend me some money?”
“That ................ . How much do you want?”
1) borrows 2) allows 3) accepts 4) depends
5- Something is wrong with my camera, it's still not working ...............
1) exactly 2) properly 3) possibly 4) actively
6- We need a larger .......... To keep our rice in it.
1) arrange 2) container 3) diary 4) computer
7- You should take an ........... English course if you want to enter this school.
1) begin 2) introductory 3) ready 4) certainly
8- | have seen the Twilight movie, | highly ...... it, it's so nice a .........
1) suggestion- recommend 2) recommendation- suggest
3) suggestion — recommendation 4) recommend — suggestion
9- There are few pandas alive these days, ..........7
1) aren’t there? 2) are there? 3) isn’t there? 4) aren’t he
10- English language among the students is so popularand ................ so fluently .
1) spoke 2) speak 3) are spokenn 4) is spoken
11- All spacecrafts which are orbiting out through space ............... by computers.
1) are controlling 2) will control 3) are controlled 4) have been controlling
m Cloze Test !

People are fascinated by robots. Some of them look like mechanical dolls to play with.
Most of

them look like other machines of today's high ...(12)... . Serious research on intelligent
robots began in

the 1960s in several countries. Now we are on fifth generation of robots. By the early
1970s, a robot

...{13)..., a computer, cost 300000 dollars. Now one costs only 300 dollars. Robots can work
in ...(14)...

that are dangerous or harmful for human workers. The continuous smell of paint has a
harmful effect

on painters, but it doesn't ...(15)... a robot. Robots can work in ...(16)... power plants and in
undersea

research stations that might be dangerous for humans

12- 1) definition 2) technology 3) file 4) combination
13- 1) media 2) mission 3) attachment 4) brain

14- 1) situations 2) systems 3) terms 4) prizes

15- 1) nuclear 2) complex 3) unreadable 4) voluntary

16- 1) conclude 2) forward 3) bother 4) devote
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m A family is a group of people who live together. They share the housework and take care
of one

another. Three types of family are nuclear family, single-parent family and extended
family. A nuclear family is made up of father, mother and one or more children living
together. A single-parent family is one where the mother or the father is caring for the
children in the family. Extended family means father, mother, children, grandparents,
uncles, aunts, cousins, nieces, and nephews.

Poor people often have larger families than middle class and upper class people. And
people in

underdeveloped countries have more children than people in developed countries. More
and more

experts in population growth see the strong relationship between family size and economic
development. People with a lot of money have fewer children. On the other hand, poor
people in

undeveloped countries choose to have many children. Why?

They know that having more children might be hard and cause them to be a little poorer,
but they

also know that having more children will actually help them survive. Because they have to
depend on

their children to take care of them in their old age. They have no insurance, pensions, or
government

help. When they grow old, where can they get help? The answer is simple. They will turn to
their

children. Their children will become adults then and will be working. The children can all
share the

costs and other responsibilities of taking care of their parents.

17- We understand from the passage that for the poor .............
1) working hard isn’t against the law.
2) a large family is a bother when they grow up.
3) a large family is a way of planning for the future.
4) having more children means having a happier life.

18- It seems that poor people in underdeveloped countries ............... when they grow old.
1) receive no government help 2) have either insurance or
pensions
3) have to take care of their children 4) are usually helped by the
government

19- All of the following are true EXCEPT:
1) The poorer a nation is, the more population it usually has.
2) Population explosion can be a sign of underdevelopment.
3) The richer a country is, the less serious is its population growth.
4) In an underdeveloped country, the government pays more to the old.

20- We can guess from the passage that ............... have insurance, pensions or government
help.

1) people with large families 2) the people in developed
countries

3) the poor in undeveloped countries 4) the old and the needy all over

the world
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